Problem 3: (20 points)

The rods AB and BC are subjected to the loads and remperarure changes shown in the figure and table
below. Determine the maximum allowable force F that can be applied (in the shown direction) 1f

o the maximum allowable normal stress m AB 1s 130 MPa (tension or commpression)., and
o the maximum allowable normal stress m BC 1s 100 MPa (tension or compression). and
e the maximum allowable displacement of point A is 5 (10) .
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Menther (m) (1) (GPa) | c() ( 7=0)
AB 0.3 110" 200 | ~40 | 20 (10)°
BC 0.6 3100 | 100 | 60 | 15(10)°
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